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SSC CGL/CHSL TIER 2 (CRASH COURSE)

1. A, B, and C invested capitals in the
ratio 7:6:5; the timing of their
Investments being in the ratio 4:7:9.
In what ratio would their profit be
distributed?
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

2. A began a business with rs 400 and was
joined after wards by B with rs 240.when
did B join If the profit at the end of the
year were divided in the ratio 4:1?
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(b) 8 months
(c) 6 months
(d) NOT
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q3.A man divides his property,so that
his son’s share to his wife's and wife’s
share to his daughter’s are both as In
the ratio 3:1.1f the daughter gets
s.10000 less than son , then the value (
In rupees) of the whole property Is.
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D..None
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q4.The income of A ,B and C are in the ratio
7:9:12 and their spendings are In the ratio
8:9:15 .If A saves 1/4™ of his income,then the
savingg of A ,B and C are in the ratio of
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q5.A man leaves rs.8600 to be divided
among 5 sons ,4 daughters and 2 nephews
. If each daughter receives four times as
much as each nephew ,and each son
receives five times as much as each
nephew ,how much does each daughter
receive?
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q6.In an examination ,the number of
those who passed and the number of
those who failed were Iin the ratio 25:4.If
five more had appeared and the number
of failures was 2 less than earlier,the ratio
of passers to failures would have been
22:3.The number who appeared at the
examlnatlon IS,
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q7the numerator and denominator of a
fraction are in the ratio of 2:3.1f 6 1S
subtracted from the numerator ,the
result Is the fraction that has a value
2/3 of the original fraction .The
numerator of the original fraction Is_.
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

8).If the ratio of the expenditure of A:B:C
are 16:12:9 and their total income is
rs1530, they saves 20%,25% and
40% respectively then find the
Income of B ?
gi¢ A: B: C%GF;[CI'I?[ 16; 12: 9 8 3R
3P| Hd 3T % 15308, dI d HHIT: 20%,
25 31 40% D} 8d B d g 3R e B
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(2) 450
(3) 600
(4) 720




SSC CGL/CHSL TIER 2 (CRASH COURSE)

9).The Incomes of Salman and Akshay are
In the ratio 4 . 7 and their spending are in the
ratio 6 : 11. If Salman saves one third of his
Income, then what will be the ratio of their
savings
HAH 31X & P 3 4:7F U A 8 3%
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(b) 18 :17

(c)15: 17

(d) Not




SSC CGL/CHSL TIER 2 (CRASH COURSE)

10).The income of A, B and C are in the
ratio 2: 3: 4 their spendings are in the ratio 5:

6:7 .If Asaves ltw of his Income then the

saving of A, B anc C are in the ratio of
A,B,C B} ST F SFUTT 2:3:4 & 3R ITH
& b 31%%“(1 5:6:7 § UiG A 3(UHT 37T &I Y,
A,B, 3R C &I §ad & 3{JUTd 1d
@?519 12

(b) 5:12:19
(c) 9:12:19
(d) 9:6:19




SSC CGL/CHSL TIER 2 (CRASH COURSE)

11)The cat is chasing a rat. In the same
Interval of time, the cat jumps 8 times while
the rat jJumps 6 times. But the distance
covered by acat in 7 jJumps Is equal to the
distance covered by arat in 5 jumps. The
ratio of speeds of cat and rat Is
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qfePsLU faeell gIRT 78aNT H 99 31 15 g,
26 GIRT 5O AN U ad DI T8 g3l &b SRR g |

e &1 fd BT U

d)20:21




SSC CGL/CHSL TIER 2 (CRASH COURSE)

12).A's income Iis 2800 more than B's
Income and C's income is 1600 more than
D's. If the ratio of A's and C's income iIs 2 :
3 and the ratio of B's and D's incomeis 1:
2,Then the incomes of A ,C respectively,
A 1 3T B B1 AT H $2800 31f® g 3R C
DI 3T B B o1 H $16003{fF 51 TG A
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(d) 8000,12000




SSC CGL/CHSL TIER 2 (CRASH COURSE)
3

).Marks obtained by saarya in History and Polity are in the ratio
of 4 . 5, respectively, while ratio of marks obtained by saarya in
Maths and Science is 5 : 6, respectively. He scored 36 marks more
In Science than in Polity, and 32 marks more in Maths than in
History. Find the ratio of marks obtained by saarya in history and
Science.
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q14.By mistake, instead of dividing
rs.117 among A,B and C in the ratio
1/2, 1/3 , ¥4 1t was divided in the
ratio of 2:3:4 who gains the most
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q15.The ratio of weekly incomes of A and
B is 9.7 and the ratio of their expenditure
IS 4:3 .If each saves rs.200 per week ,then
the sum of their weekly income is.

aﬁvmmﬂmﬁ%ﬁlme’%@w%aﬁ?
wm's'zoo ]

B Rs. 3200
C.Rs.4800

D.Rs.5600
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q16.Rs 180 are to be divided among 66
persons ( men and women) .The ratio of
the total amount of money received by
men and women Is 5:4 .But the ratio of
the money received by each man and
woman IS 3:2 .The numbere'%?men IS _
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C.30

D.none
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